INPUT CONNECTOR
PC 6-16/4—GF—10,16(PHOENIX)

GROUND STUD OUTPUT
BUS BAR CORNECTOR égﬁh\loE%ngNTDFioTbPE725P\N
2 PLACES  outPUT (+)

SEE NOTE 1
REMOTE SENSE
CONNECTOR

SETUP SWITCH \02
=== 35.541.0 517.0+1.0 o
IEEE OR ISOLATED
ANALOG OPTION 497.5£1.0 -
(BLANK IN STANDARD UNIT) ‘ 5
74.7 ® - 0 3 a -
423.041.0 PS A A ® N9
> [-) g
L] d
O]
<} 0|
377.0
60.5 92.0 92.0 SEE NOTE 2
0 607.0+1.0 3 HOLES MARKED "A”
O
60.0 163.5 ~ 642.5+1.0
5.0 50 Al
- SEE NOTE 3 AC CABLE STRAIN RELIEF
. . SEE NOTE 4
s (SHIPPED IN PACKAGE)
o8
(| e— ]
® ® PROTECTIVE BRACKET
(SHIPPED IN PACKAGE)
SEE NOTE 7
o
= AR FLOW
H DIRECTION
o SEE NOTE 5
g
3
ACCESSORIES
ITEM PART NUMBER QTY PACKING OUTER PACKING NOTE
HEXAGONAL SCREW M10x25 DIN933 Cl. Cr. 2
HEXAGONAL NUT M10 DIN439B Cl. Cr. 2
PLASTIC BAG
SPRING WASHER M10 DIN7980 CI. Cr. 2
FLAT WASHER M10 DIN125A Cl. Cr. 4
SEMS SCREW M3x8 1 | PLASTIC BAG PLASTIC BAG
FLAT HEAD SCREW M3x6 3 | PLASTIC BAG FOR MODELS
PROTECTIVE BRACKET ASSEMBLY IA626—32—19-00_ 1 60V—100V ONLY
PROTECTIVE BRACKET IA626—32—10_ 1 | NONE INSULATOR IS ASSEMBLED
SEE NOTE 6 PROT.BRACKET INSULATOR IA626—33—03_ 1 TO THE BRACKET
LINKING CABLE IA575—81—11_ 1 | PLASTIC BAG
M DB25 PLUG KIT 749809—-9 AMP 1 |PLASTIC BAG
O
H o p INPUT CONNECTOR PLUG PC 6/4—STF—10,16 PHOENIX 1
o 10 STRAIN RELIEF BRACKET IA626—32—09—00_ | vone
00!
STRAIN RELIEF 1576.16.11 AGRO 1 PLASTIC BAG
STRAIN RELIEF WASHER 8216 AGRO 1
@] FLAT HEAD SCREW M3x8 2 |PLASTIC BAG
0 466.0£0.5 o CASELEG FFOO4—AR79 (SHINAGAWA) 4 |PLASTIC BAG
482.041.0 o
NOTE

1. MATING PLUG P/N:MC1.5/5—-G-3.81 PHOENIX

2. _MOUNTING HOLES FOR SLIDES P/N:CC3001-00—S160,GENERAL DE\/\CNETSO OTE(EE%LVJ%VTALENT' USE #10-32x0.38INCH x3 SCREWS FOR EACH SLIDE.

ENSURE THAT THE SCREWS DO NOT PENETRATE MORE THAN 6.0mm | IT.
. AC INPUT RATING AND SAFETY APPROVAL SYMBOLS ARE SHOWN HERE ACCORDING TO THE SPECIFICATIONS.
. STRAIN RELIEF DEVICE P/N: 1576.16.11 AGRO.

. MODEL NAME AND OUTPUT RATING ARE SHOWN HERE ACCORDING TO THE SPECIFICATIONS.

. MOUNTING HOLES FOR 19" RACK, USE M6x16 SCREWS TO FIX THE UNIT TO THE RACK.

. COMPANY LOGO IS SHOWN HERE.

~NO Obh W

(unit : mm)

MODEL NAME ‘GENBSOOW 8—100V3PH

TDK-Lambda

IA626—02—-04I



